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Vypočítej:

3+3=                 6-3=                  9+3=                   8+4=             12-4=
3+6=                 9-4=                  5+5=                   3+8=              11-3=
5+4=                 7-5=                  6-3=                    5+7=              13-4=
8+3=                 8-5=                   7-7=                   9+2=               12-3=

Vyřeš slovní úlohu:

Jirka má 8 modrých kostek a 3 červené kostky. Kolik kostek má celkem?

Modrých____________________

Červených__________________

Výpočet____________________________

Odpověď_____________________________

Vypočítej:

3+9=               6+6=              8+4=               9+5=             7+7=               5+7=            4+2=
11-3=             12-5=             16-3=             12-1=             13-3=             14-8=            16-3=
2+5=              8-6=                5+4=              11+4=            12+8=            15-3=            15-5=

Narýsuj dvě přímky:
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